N Unit 8 Test Review
Make Flashcards for the following words-

Precedent Excise Tax (see vocab. List) Tariff
Political Party Impressment Judicial Review

1- What was the cause and effect of Jay’s Treaty

2- Why was every decision made by George Washington and the First Congress of great
importance to our new nation?

3- Contrast Alexander Hamilton's and Thomas Jefferson’s point of view on the importance of
Article 1 Section 8 of the U.S. Constitution. How do each helieve the Constitution is
constructed?
\l
4- What did the Alien and Sedition acts do and how do they violate the U.S. Constitution?

a. AlienAct-

b. Sedition Acts-

c. How they violate the Constitution

5- Identify the beliefs of the Federalist Party-

6- Identify the beliefs of the Democratic-Republicans-




7- Ever since the passing of the Judiciary Act, how many levels are there in the U.S. Court System?
8- What was the cause and effect of the Whiskey Rebellion? '
a. Cause-

b. Effect-

9- Identify events that were studied in this unit that illustrate that early presidential
administrations created a strong, independent nation-

10- Would Hamilton or Jefferson be most likely to support a protective tariff?

-

11- A person Is a merchant from Virginia, has made a great deal of money in the lumber industry.
'He comes from a family of tobacco planters, and his sons live on a plantation nearby. Based on

Which of the original political parties would they be most likely to support. Be sure to SUPPORT
your answer. {2 points)

12- Thomas Jefferson and Alexander Hamilton had many opposing ideas related to how our
government should operate, including the debate about a National Bank. Contrast the
viewpoints held by Jefferson and Hamilton concerning a National Bank, including whether they

_ felt the Constitution supported it-why ar why not. (4 points)

13- Before leaving for retirement, President Washington gi\/es a farewell speech where
he warns America of what not to do in the future, , ldentlfy the warnings he gives and
explain why he feels the way he does. (4 pomts)




